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(To be filled up by the candidate by biue/biack ball-point pen)
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(Write the digits in words) ....................

Serial No. of OMR Answer Sheet ......ooeeeveeeeeeeeeeeee e
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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the OMR Answer Sheet)

1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to
ensure that it contains all the pages in correct sequence and that no page/question is
missing. In case of faulty Question Booklet bring it to the notice of the
Superintendent,/ Invigilators immediately to obtain a {resh Question Booklet.

Do not bring any loose paper, wrilten or blank, inside the Fxamination Hall except the
Admit Card without its envelope.

A separale Answer Sheet is given. It should not be folded or mutilated. A second Answer
Sheet shall not be provided. Only the Answer Sheet will be evaluated.

Write your Rall Number and Serial Number of the Answer Sheet by pen in the space
provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space
provided at the top, and by darkening the circles at the bottom. Also, wherever applicable,
write the Question Booklet Number and the Set Number in appropriate places. '
No overwriling is allowed in the entries of Roll No., Quéstion BooKlet No. and Set No.
(if any) on OMR sheet and also Roll No. and OMR sheet No. on the Question Booklet.

7. Any changes in the aforesaid entries is to be verified by the invigilator, otherwise it will be
taken as unfairmeans.

8. Each question in this Booklet is followed by four alternative answers. For each guestion,
_V_l’ﬂfd? :hormord the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row \nswer Sheet, by ball-point pen as mentioned i
guidelines given on the first pag #ﬁiﬁrwbﬂ L famed in the

9. For each question, darken only one circle on the Answer Sheel. If ou darken mor

‘ : , , : ¢ than

A mem;:le a;e darken a circle partially, the answer will be treated as mgurrecr. :

10. Note that the answer once fillodn-sink cannot be changed: % you do not wish |
question, leave all the circles in the comesponding row bmk (such que,;,{,?;fﬁfg{’{)j

awarded zero marks).

1. H z;;ouﬂernrk,b use the inner back page of the title cover and the blank page at the end of
12. Deposit anly the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Pxamination Hall ussid the end. of the Test
14. If a candidate aﬁéﬂfpjﬁ o use ANy form ettt means, he/she shall h-e‘ '
punishment as the University may ddgrmine and i.m&s;eqon him/her. liable to stich
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17P/306/25(Set-1)
No. of Questions : 120
Y B AT : 120
Time : 2 Hours ] [ Full Marks : 360
TG : 2 §oe ] , ' | [ gvlf@':j’ﬁﬂ_

Note : (1) Answer as many questions as you can. Each question carries 3 (Three)
m‘_arka. One mark will bé deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.
mwﬂmmgﬁmmﬁw_mﬁmtmﬂmms () sl & &1
THT T IR B R vF s% Fer o g saRd 9 &1 arais
a3 &

(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one. " V———

afe vofe dafoas e wEl o @ Fee ydd a‘rﬁaﬁm HE TR & |
SECTION - 1
_ g - 1
Direction for Q. Nos. 1 to 4 : In each of the following questions, find the word closest 1o
the meaning of the capitalized word :

1. STIPULATION:: ”

(1) Imitation (2) Signal (3) Excitement  (4) Requirement
2. LATENT:

“(1) Concealed (2) Apparent (3) Lethargic 4) Prompt
3. PRIVY: T

(1) Dishonest (2) Cautious (3) Secretive (4) Quie;
4. REJOICE: .

(1) Rejoin -+ {2) Rebuild (3) Rename” @J Delighy

i

(1)
. T.0,
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17P/306/25(Set-1)

Direction for Q. Nos. 5 to 8 : In each of the following questions, a capitalized pair of
words is provided, which are related to each other in a certain way. Following it are
the four options which have a single pair of words each. The correct answer will have
a pair of words which has the same relationship as the capitalized pair. You have to
identify this pair of words :

5. EXTRACT:TOOTH

(1) Cut: Nail (2) Uproot : Stump
(3) Pull out : Pin (4) Cut:Wood

6. GLOVE:BALL
(1) Summer : Winter (2) Game : Study
(3} Stadium : Scaly (4) Hook : Fish

1. LAWYER : COURT
(1} Profcesor: University - (2) Author: Book
(3) Wine: Grapes (4) Volume : Liter

8. SATIN :SOFT
(1) Polyester : Expensive (2) Tron: Hard
(3) Soft: Cotton (4) Wood : Coloured |
Direction for Q. Nos. 9 to 12 : These questions are incomplete sentences. Beneath each
sentence you will see four numbered words or phtases. Choose the one thal best
completes the sentence :

9. He bought new shoes last month but they are already ............... out.
(1) given (2) gone (3) knocked (4) worn
10. He iS 80 .ovvannersse that everyone is always ....c.cooeeees to help him in his work.

(1) Helpful, reluctant @) Aloof, cooperative
(3) Admant, enthusiastic (4) Mﬂgﬁammnus, cager

more appropriate to commemorate

bject ...ovecieionanniianiness
I thought that no ¢ :
" Tg‘nduﬁkar‘sbifthda? Vi cricket:

(1) would be
(3) had been

(2) would have been
(4) hasbeen

(2)
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17P/306/25(Set-1)

12. Till the early part of the AD era, the Romans as a people led a secluded life and
their influence ............. +.... 0L felt on the cultures of the world.

(1) has (D) was (3) is (4) has been

Direction for Q. Nos. 13 to 16 : In each of the following questions four alternatives are
given for the idiom / phrase italicized in the sentence. Choose the one that best
expresses the meaning of the given idiom / phrase :

13. His most trusted friend proved to be a snake in the grass.

(1) an unreliable person {2) ahidden enemy
(3} low and mean (4) cowardly and brutal
14. You cannot have your cake and eqt .it too. "
.
(1) enjoy forever " (2) enjoy without payment
(3) have it both ways ' (4) absolve yourself of guilt
T "

15, In the beginning of his career, he was practically rolling in money.
(1) wasting a lot of money - | '
(2) spending more than his earnings
(3) very rich
(4) saving lot of money

16. The students were in the blues when they heard that the examination would not

be postponed after all.
(1) cheerless and depressed (2} wielent and angry
(3) wearing blue badgf:a (4) singing sad songs

e -

Direction for Q. Nos. 17 to 20 : In the following queéti{ms, a?éntéﬁmig divided into
four parts. Read each part of*thvessegtence to find opf whether there g any error ;
it. The error, if any, will be in one part of the sentence, @

the numbér of 4
: e i g at .
the answer. (Ignore the errors of punctuations, if any) * part is

7. {]i Wf'lY we do not (2) meet mm

X0
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17P/306/25(Set-I)

18. (1) One of the secret (2) of success is

(3) to keep trying (4) and not give up.

19. (1} The present study has been designed
(2) to examine whether or not
(3) traditional approaches are
(4) still applicable.

20, (W o you inform me {(2) of yours arrival hme
(3) 1shall come to : (4) meet you at airport.
Direction for Q. Nos. 21 to 24 : In each of the following questions, [our words which

are numbered (1), (2), (3) and (4) are given, one of which ma y be wrongly spelt. Find
out the word with the wrong spelling. The number of that word is the answer :

21. (1) administrative (2) accomodation
(3) industrial (4) management
22. (1) resignation (2) aggression
(3) fixation (4) regresion
23, {1) laison . (2) enterpreneur
~ (3) personnel (4) enterprise
24. (1) absence ' (2) proportion
(3) percentege (4) dispute

Direction for Q. Nos. 25 to 28 Out of the given alternatives, choose the one which can

be substituted for the given words or sentence :

95. Government by one maa:

1) Anar chy (2) Monarchy (3) Autocracy {4) Democracy

et of beautiful handwriting :
a A

iy (2) Glligraphy ~ (3) Draftsman  (4) Painter

(1) Paleography
(4)
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17P/306/25(Set-)

27. A speech made without preparation :
(1) Prepared (2) Debate
(3) Extempore (4) Elocution

28. Release of a prisoner from jail on certain terms and conditions:
(1) Parole (2) Parley
(3) Pardon : (4) Acquit

Direction : Read the passages given below and answer the questions that follows each
passage according te the contents of the respective passage :

PASSAGE - 1 ;

Pablo Picasso showed his truly exceptional talent from very young age. His first word
was lapis (Spanish for Pencil) and he learnt to desvw bafore he could talk. He was the
only son in the family and good looking, so he was thoroughly spoilt. He hated school
and often refused to go unless his doting parents allowed him to take one of his
father's pet pigeons with him.

|

Apart from pigeons, his great love was art and when in 1891 his father, who was an
amateur artist, got a job as a drawing teacher al a college. He often watched his father
paint and sometimes was allowedt to help. One evening his father was painting a
picture of their pigeons when he had to leave the room. He returned to find that Pablo
had completed the pictufe and it Was S0 amazingly hmij.ﬂ.xl,gr_td lifelike that he gave

his son his own palette and brushes. His father never painted again. At that time,
Pablo was just 13. — e

-

vy

29. Asaboy Pablo Picasso was:
(1) ordinary lookiAF BUT tlented L
(2) handsome and talenteq
(3) handsome and studious N -
(4) handsomeand hard Working

SN T

P.To.
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17P/306/25(Set-l)

30. He was spoilt mostly because he was :
(1) asmart boy
(2) loved by one and all
(3) the only son in the family

(4) aiways surrounded by notorious boys

31.  Picasso went to school only when :
{1) his friend accompanied him
(2) his father weni to him
(3) he wasallowed to paint at school

(4) he was allowed to carry a pet with lum

32, When his father painted in the college, Pablo :

(1) occasionally helped him (2) rarely helped him
(3) aiways helped him _ (4) invariably helped him

PASSAGE - 2

The jobs do not get changed around from time to time. | started off on one of the nicer
ones. 1 sat at a conveyor belt slipping a piece of cardboard under each cake as It came
down the line. At firsl it was difficult to keep up. An uneconomic rhovement, a fumb}e
and four cakes have gone without cards. [ got up to chase the four cakes, eight more
appeared and for five minutes or so [ had to work at fwice the speed to work my way
hack to where 1 was sitting before. But it takes half a day or so to learn how it is done
and soon it becomes gquite automatic, The frenzy had quite worn off by the end to the

fivet dav and there was only the monotony and the aching arms.

Later ] moved to another job on the line, as the girl who usually did it had left. ] Wafn't
surprised. It was the nashest job in the depariment. ‘A*ﬁvthe cake came out of a machine
that had sliced it in three layers, two streams of artificial ST were poured over the
| [ had to stack the layers up again — a messy and very tiring ]{?b. The cakes were
By=es am was slippery. Anyone who has worked at all in a factory knows
heavy o e Cree‘fm belt work 15. Al J[ireat. it ig dfficult to keep up and when you are

\Y ‘ ¥
how deathly -ciﬁmerdleﬁ‘*- After a while, when yOU have becorne fairly used to il, Lhe
tired it 18 QUi

‘act that you can't work faster is also infurialing.
fact tha

(6)
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17P/306/25(Set-1)

33. The writer's purpose in writing this piece is to:
(1) make people who don't work in factories realize what it is like to work
there
{2) plead to abolish manual labour frnm factories
(3) plead to get unskilled ;oba made easier
(4) explain to young people how to handle a job in an automated production
unit.

34. When the writer was moved to anothier job she wasn't surprised to find that :
(1) she had been moved
(2) her new job was very unpleasant
(3) the cream in the cake was artificial
(4) the girl before her had left

35. The writer found it a messy job to :
(1) separate the three layers of the cake
(2) pour artificial cream over the layers
(3) stack the layers up again
(4) put the cake back on the conveyor belt again

36. The writer calls the conveyor belt ‘'merciless’ because it :
(1) could cause an injury if one makes a mistake
(2) is devoid of human feelings

(3) does not slow down-even when the worker is tiered
{4) itis hard task master

SECTION -2
G - 2

37. 4 bells toll together at 9:00 AM. They-toll after 7, 8, 11 and 12 seconds
respectively. How many times will they toll together agamin the next 3 houiee ?

(1) 3 4 B S (3 3 (4) 6

4 wfedl [gaw 9 T Y@ W AR §) °iedt 7, 8, 11 3R 12 giee
; ; o 13 .
ot 1 S I P W R e W T A o T G B

2) 4
(1) 3 (2) (3) 5 @) ¢

(7)
PYO.
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17P/306/25(Set-i)

38. _Find the greatest number of 5 digits, that will give us a remainder of 5, when
divided by 8 and 9 respectively.

(1) 99931 (2) 99941
(3) 99725 (4) None of these
5 f3fSe &1 Ted gg1 v o PRT, S 5 5 River @ w5 8 R 9 § FAT:
e Bsar o
(1) 99931 (2) 99941
(3) 99725 (4) g9 @ #rg TR
39. Find the number of divisors of 720 (including 1 and 720).
(1) 25 (2} 28, (3) 29 (4) 30
720! TR 3% f¥amgee o P (1 3R 720 58 ae) -
(1) 25 (2) 28 (3) 29 (4) 30
40. What is the next number in the series given below ?
/3 T B U e A 3
(1) 29 (2) 32 (3) 33 (4) 35
Ha Y m A ¥ amren wmw aur B ? ‘
AT cmnapa
(1) 29 (2) 32 (3) 33 (4) 35

41. A passenger train departs from A at 6 p.m. An express train whose average

speed exceeds that of the passenger train by 15 km/hr leaves B for A at p.m.
The lrains meet each other mid-route. At what time do they meet, given that

the distance between the two cities is 1080 km. ?
(1) 4am. . (2) 2 a.m..

(3) 12 midnight | (4) 6 am.
9 6 Tol U@ RO 2T A 9 Fad R} g THARd g9 et v Ty IR ¢
MR B A D RT 9 a0 8 B wEA 21 @ g da v A

hr @ 5 +
g;j;él?%maﬁ@ﬁrﬁ,mﬁmﬁrﬁaqﬁ@mewm%?
(1) G 4T sl sy
(3) AARIA {243 ) g o

(8)
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17P/306/25(Set-|)

42. A man purchased two varieties of rice in the ratio of 4 : 5. The prices of the two
varielies are in the ratio of 3 : 2. He sold the entire rice for Rs. 2,530. Find the
difference in the cost price of the two varieties of the rice.

(1) Rs.12 | (2) Rs.15
(3) Rs.20 ‘ (4) Can't be determined
TP HEH 4 : 5 B AU § D YHR B gEd @ed & QT A9 BT qeu 3 ;2
R A 8| 9 g3 WAAA 2530 Bo A ¥9 27| o yHR B GGG B P Wigd A
3TN S BT : ‘ |
(1) 12%0 | (2) 15 %o
(3) 20%0 (4) PeiRa 78 frm &1 waa

43. Thl? average weight of 6 persons is increased by 2.5 kg when one of them whose
weight is 50 kg is replaced by a new man. The weight of the new man is:
(1) 65kg (2) 75kg (3) 76 kg (4) 86 kg

6 @ BT T IR ww W 2.5 Ryme g B, o ) Qe @1 50 Rt ¥R fmd
T = W qgEd ¥ R @l e R R

(1) 65fFmo (2) 75 fmo (3) 76 fxmo (4) 86 [Fzo

44. Fresh grapes contain 90% water by weight while dry grapes contain 20% water
by weight. What is the weight of dry grapes available from 20 kg of fresh
grapes ?

(1) 6kg (2} 8kg (3) 2kg (4) 25kg

G argmm%%mﬁ?m@ﬁ?mwzmm%h@@Fm
R 1 €T Wlfd 20 fmo M 3R W ure # - ‘
(1) 6@ (2) 8 fFum (3) 2 frumo (4) 2.5 o

45. The popufﬂﬁvh of a town was 10,000 at the end of thve yoar 2000, What 1]
the population of the town at the end of the year 2002, if the rate of Tl - %
growth is 20% per annium ? Ve etiog

T

(1) 14,800 2) 16,200 (3) 15,400

—— ) 14,400
af 2000 # 3 A TP WY A TAGET 10000 3| a¥ 3
STEEAT (e 2 mﬁtmmmmﬂﬁw?ﬂ”mﬁm G

(1) 14,800 (2) 16200 (3) 15409

e

™

(9

(4) 14409

PR,
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17P/306/25(Set-1)

46. An employer pays 3 workers X, Y, Z a total of Rs. 610 a week. X is paid 125% of

47.

48.

the amount Y is paid and 80% of the amount Z is paid. How much money does
X make in a week ?

(1) Rs.210 (2} Rs. 200 (3) Rs.150 (4) Rs. 180

U% friem 3 aaddt X, Y, Z 9 B¢ BR &l 610 To qdl 81 X & 125% Y & gHET
&1 ot & ok 80% Z @ TANTE @ o € df %E @ dd & X B fhas i
e ?

(1) 210 %o (2) 200 %0 (3) 150 Fo (4) 180 %o

A shopkeeper makes a prnfit of 20% on the cost of 20 fruits by selling 16 fruits.
Find his overall profit percentage : -

(1) 50% (2) 3333% (3) 25% (4) 62.5%
TP TR 20 Belt B Hed W 16 wel aga) 20% B UF difhe ¢ § 9
(1) 50% (2) 33.33% (3) 25% (4) 62.5%

What is the simple interest for 5 years on sum of Rs. 700, if the rate of interest
for the first 3 years is 8% and for the last 2 years is 7.5% ?

(1) Rs.269.5 (2) Rs.283 (3) Rs.273 (4) Rs. 280
700 To & M W 5 WA & AU {HUA LI I G, WK YT AP FRIC o 3
aia & fav 8% AR T B 29 B fog 75% B 7

(1} 269.5 %o (2) 283 %o (3) 273 %o (4) 280 To

Vinay deposited Rs 8,000 in a leading public sector bank, which pays him 12%
interest per annum compounded quarterly. What is the amount he receives

after 15 months ?
(1) Rs g274.2 (2) Rs.92288 = (3) Rs.93143 (4) Rs.9338.8

S ofee dac? & § To 8,000 T T S & 94 12% g
?ﬁgﬁ%mmmmgwﬂ#w@mwm?

b omave (@) 088w T (3) BT () 93BT
( .

(10)
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17P/306/25(Set-l)

What annual payment will discharge a debt of Rs. 808 in 2 years at 2% per
annum ?

(1) Rs.200 (2) Rs.300  (3) Rs. 400 (4) Rs.350
2% wfoad W 2 ¥7el # PFH1 T WE To 808 BT FOT THIT ?
(1) 200 %o (2) 300 3o (3) 400 To " (4) 350 %0

422 + 8b2 = 12ab.Find a : b.

M) 1:2 (2) 3:2 (3) 2:1 (4) None of these
4a?+ 8b?=12ab, a ;: b 10 ¥ |

(1) 1:2 (2) 3:2 @21 (4) T & P TR
{p+q):(p-q)=1:15, then the value of (p? - q?) is equal to :

(1) 2 (2) 3 ) 15 ; (4) 113

R (p+qQ:(p~q=1:157a (p2-q2) B do avex 2nf:

(1) 2 (2) 3 LAY (4) 113

[JJ'? X and Dr. Y are partners in a nursing home. Dr. X invests Rs. 3,50,000 for 8
months and Dr. Y invests Rs. 420,000 foc 10 months. Out of a profit of
Rs. 3,15,700, Dr. X share is -

(1) Rs.94,710 2) Rs.1,26280  (3) Rs.1,80,400 (4) Rs.1,89,420
:‘i;);ag:; ngm;ranﬁméwﬁtsﬁ%%m*mxamnmmﬁw
Slo Y 10 78R B RIT 4,20,000 To 39 B &) 315 700
b . 15,700 T B tifthe

(1) 94710% (2 126280%  (3) L80AW0To  (4) 1894200

A cistern is normally filled in 5 hours. However, it takes 6 hours when there jg
leak in its-bottom. If the ci_stem is full, in what time shall the leak emply it ]

e

(1) 6 hrs (2) 5hrs 3 30hs T ) 15k

Te R e 8 98 Wy iy sl A deg :
6 W W ¥) afk R W gy .fﬁmﬁﬁmﬁmgmwmmq

(1) 6% Q) S~ (3) 0w W Wil
o (4) 152

(11)

§ PToO.
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17P/306/25(Set-I)

65.

o6.

7.

28.

59.

Bu‘twecn 5 am. and 5 p.m. of a particular day for how many times are the
muinute and the hour hands together ? |

(11 ) 2 (3) 33 4 44
U 67 4 5am 31k 5 pm @ §rg, Rt TR e aiv onex &0 & w e & ?
(1) 11 : 2) 22 (3) 33 (4) 44

In how many ways can the letters of the word "PATNA” be rearranged ?

(1) 60 2) 120 (3) 119 (4) 59
BT dvg 9 PAINA' o T AeH B dord B o Gear 2 7
(1) 60 (2) 120 (3) 119 @) 59

A bag contains 3 white and 2 red balls. One by one, two balls are drawn
without replacing them. Find the probability that the second ball is red.

(1) 275 (2) 1/10 (3) 2/10 (4) 3/5

Uh ¢ A 3 WHE AR 2 Wil 7 | 0B @ 918 s, 2 1T QA7 g Faeh ard #)

e wa ARy [ gud Wy a2
(V) 2/5 S @) 1/10 (3) 2/10 (4) 3/5

log,53375 * log,1024 =7

(1) 16 (2) 18
3) 12 (4) 15
10g,53375 * log, 1024 = 7

(1} 16 (2) 18
(3) 12 (4) 15

The areas of two similar triangles are 9 cm? and 16 ¢m? respectively. Find the
ratio of their corresponding sides.

(1) 3:4 (2) 4:3

(3) 2.3 (4) 4:5 °

2 g Pa 1 W@ 6 om 3R 16 om FHRE &) ST avwiET AEEH 3
Rt s S |

(2) 4:3

(4) 4:5

(12)

(1) 3:4
(3) 2:3
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17P/306/25{Set-l)

" 80. Find the length of a chord which is at a distance 12 ¢m from the centre of a
circle of radius 13 cm.

(1) 9cm (2) 10em (3) 12cm (4) 5cm

UF Pie @) orerd g ARG S & 13 I Bowr 7@ 9 & AR | 12 em A

WWE:

(1) 9cem (2} 10cm (3) 12cm (4) Scm
Direction for Q. Nos. 61 to 64 : Study the given table and answer the questions that
follow :
frder we7 Wo 61 & 64 @ AT : 9 Y M A a1 semgm A AR = uwEl @
EESE a’fﬁiﬁ :

Table : Distribution of students at Harvard University according to Professional courses

S. No. Course

4. Others 12 i 5

61. [f 60% of the boys and 70% of the girls are successful in the courses laken by
them, then what is the combined pass percentage (approx.) 7 '
(1) 67.2 (2) 63.1 (3) 62 (8 85
AT 60% o 3k 70% ol ¥U7 FRIG A wha & o 92 R & & s
G Tedew 9] & (o) 7

(1) 67.2 (2) 63.1 . (3) 62 (4) 68.5

62. In which course is the percentage of girls (among the total number of students)
higher than the percentage of girls in any other course ?

(1) Business managemeht- - " (2) Computers
(3) Finance (4)' Others
frr ®RT ¥ wefdal # e Qe 3T ) e :
oplhly g = wSew ) R & R B
(1) o e —— (2) T
(3) g ' () I
( 19 D
‘ TD.
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17P/306/25(Set-1)

-

63. By whal percentage is the number of students doing Computers more than the

number of students doing Business Management ?
(1) 67.2 (2) 63.1 (3) 62 (4) 68.5

et sRiem @ Hey H Al BIEl @ G Ry Bdde e aad el @
IR I ’

(1) 67.2 (2) 631 (3) 62 (4) 68.5
64. 'The percentage of girl engineers doing Business Management are :

(1 112 (2) 122 (3) 15 (4) None of these

[ews #oonfe & arelr Tl AR & ulded #

(1) 1.2 (2) 12.2 (3) 15 (4) 7% § o E
Direction far Q. Nos. 65 to 67 Study the given table and answer the questions that
follow ; :

T weT Wo 65 @ 67 @ 7 ;W ¥ A Taw o1 wegyE PIFAT R faw gt @
g fog

Five football teams Mohan Bagan, Mohammedan Sporting, East Bengal, JCT and
Churchill Brothers are all going o play each other once. After some of the matches
have been played, a table giving some details of the matches played, won, lost, etc.
looked like these :

UMY wEA g digd arTe, Beered ifdn, $e 9, o olR whd @ew. 1@ AR
(% SR & T @& @#ﬂﬁaﬁ%ﬁ.ﬁﬂ%ﬁmﬁﬁénﬂﬁamﬁa@ﬁm
& uild, 'R anfe :

Team | Played | Won | Lost | Drawn | Goals for | Goals against
(&17) @a m) | e | GRG0 ) @ f ) | (@ Reg W) |
Mohan Bagan s 3 0 | 1 U 3 | 3 ‘I
et arie . _ N |
| Mohd. Sporting 0 4 3
_(T_-I"IU Tcl".f?:‘n} l: | ]
|1 East Bengal 3 i B 2
| ame) . : |
.(JCT ‘ 1 |0 0 2 I
mad i = l i
Churchill Brothers 1 - 3 2 n
(e qed) 1. . :
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65. How many games did Mohan Bagan played ?

(1) 1 . | (2) 2
) 3 (4) Insufficient data
Ags a3 e e @ ? '
1 () 2
(3) 3 (@) vt siEs
66. Against _which team did East Bengal not played yet ?
(1) Mohan Bagan (2) Mohd. Sporting
(3) JCT (4) Churchill Brothers
TR IR A I 9% g AW @ g T8 Qo ?
(1) =& 2 C{2) #e wfé
(3) W& . (4) af¥e T=9
67. What is the score in the East Bengal Vs. Churchill Brothers match ?
) 21 (2) 1-2
3) 0-0 {4) Thie match did not take place
I AT 99 Ifae 72 A9 f oo R 2 7
(1) 2-1 (2) 1-2
(3) 0-0 (4) = & e

Direction for Q. Nos. 68 to 72 : Mark :
fser o o 68 @72 @ fay : gy :
(1) if statement I alone is sufficient to answer the question.
(2) if statement Il alone is sufficient to answer the question.
(3) if both statement I and B+ogether are required to answer the question,
(4) if the question cannot be answered even with both the statements, -

(1) a&mrmm#mmwﬁm
(2) uﬁmmﬂmm%mﬂwmﬁﬁl

(3) afe T woT 19 I Uy grdfd & g B ST A
() uﬁmﬁ?ﬂﬁﬁﬁﬂm‘ﬁ%?‘mtm%

(15)
P.T.0O.

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17P/306/25(Set-)

69.

70.

7.

Ifa:b:c=2:3:5, find the value of a, b and c.

I The value of ¢ is equal to sum of a and b.
Il. The value of a - 3b + 4¢ = 39,

X a:b:c=2:3:52 @ a,b Td ¢ FT 7 A WA |
. ¢ W= aaiRb® OT & aRmaR 8|
I[I. a-3b+4c & ¥H392]

The incomes of A and B are in the ratio 5 : 3 and their expenses in the ratio 9: 4.
Find their incomes.

[.  Each of them saves Rs. 700.
. Each of them saves equal amount.

AIRBE &FT5:33 o ¥ & 3R 978 @ 9 : 4B U A B | I A
ST BT |

I T8 8 uds 700 To 9911 &
IR e R T o ) B |

The value of y at x = 0.5 is 24. Write the equation connecting y and x.
Iy varies inversely as x.

. Atx=2vyiséh.

x=05Ty BT A 24| y oIl x B Sirg") Jrem Fo foifay |

1y, x P TR gAade 38 Sar B

. x=2Wy6#e!

The cost of diamond varies as the square of its weight. A diamond weighing 12
grams cost Rs. 3,600. The diamond broke into pieces. What is the gain/loss to
the merchant ? .

l.  The weights of two of the pieces are in the ratio 2. 1.

I There are only two pieces,

@ﬁmﬁaﬂmﬁmma%aﬂ%mﬁ:lzmz@wﬁ%m
riar%ﬂo'ﬁc%mﬁméﬂrﬁ‘w@m%|mmm/aﬁm%?

l awmmﬂ:l%mﬁtl

1. a4 ¢S B
(16)
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If the length of a reclangle is increased by 5 cm. and the breadth decreased by 2
cm., the area is unaltered. ;

I If length is decreased by 3 cm. and the breadth increased by 2 cm., even
then the area is unaltered.

II. Length of rectangle is almost twice its breadth.

uﬁmmﬁaaﬁmﬁSmwﬁa@_aﬁ?ﬂﬁ@ézcmw%mﬂivﬁm
FAqTeE & | |

L =R wErg 3 9 wer & oR ok e 2 ¥ 7@ A W aw A R
FTATTES TR |

I S @ o e SwE e @ g @
SECTION -3
e -3

To which animal is the myth attached thal it sweats blood ? ‘

(1} Rhinoceros (2) Platypus

(3) Whale {4) Hippopotamus
ﬁmmﬁmwﬁmg@?%ﬂsmﬁﬁﬁﬁ%} PR B 7

(1) TEHRR (2) @feww (3) el (4) ivvde

What is the market situation in which each of producers affects, but does not

control the market ?

(1) Monopoly . (2) Perfect competition
(3) Price differentiation - (4) Oligopoty
I8 ®7-4 e Rge: ' | :
e ﬁwﬁgmﬁwﬁiﬁ:ﬂ@ﬁﬁﬁé%mmﬂ
(1) ATt . = (2) Wewe T
(3) wrgw femfme= (4) aferiaih
How many spokes are there in the "Chakya" (Wheel) of our Nationg Flao ?
(1) 12 ) 24 @30 w6
BRR WY e B um ARl Derar § - '
1 12 )2 (3) 30 ) 16

(17)
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76.

78.

79.

Which brand of fabrics was named after Ramniklal Ambani's son ?

(1) Raymond (2) Vivaldi (3) Vimal (4) Mayur
WRIVHAE 3 @ 42 @ AW W PH-u1 Biae gie 2 7

(1) ¥Fug ) R (3) 4) TR
Which one of the following is not a direct tax ?

(1) Wealth tax . (2) Professional tax

(3) Income tax | (4) Service lax

Mt 8§ -] dousd o3 T8T 8 7

(1) ®ERT TR (2) WhEEA IR (3) I WX (4) Qa1 H
Expand SQL :

(1) Standard Query Language (2) Structured Question Loop
(3} Structural Query Language (4) Standard Question Loop
SQL an uf wy &

(1) evee add dhiw (2) s Ry

(3) ol T oiva (4) wved Aot g

In the context of the share market the term 'Limited liability’ means:

{1) The number of shares in the company 15 strictly limited

(2) Shareholder is only liable for the debts of the company lo the extent of the
unpaid value of his shares 1

(3) All stakeholders in a company share an equal though limited liabilily lor
the company’s debts

(4) None of these

i W @ e A i wrfafed w o 2

(2) YREER PTA F & g O AEIA © Al SES WR B AS Aoy,
g

oY G €
) S A B

(18)
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Who wrote the famous book for children ‘The Jungle Book' ?

(1) Dickens (2) Kipling

(3) Hans Christian Anderson (4) Enid Blyton

oot & o wfhig qwas g wirer g9 R vl ?

(1) fe= - (2) fufeir

(3) ¥ v vewm (4) s =mEeq

Who gave the theory of - 'Hierarchy of Needs' ?

(1) Keynes (2) Maslow (3) Koder (4) Marshail
(1) ¥ (2) =<t (3} FlTer (4) wrde
Who is supposed to be the ‘father of advertising' ?

(1) Kotler (2) David Ogilvy

(3) Peter Mathew (4) Fernando Smith

"BTER A6 TeacisRir e arm srar 2 7 |

(1) HEow (2) =T frh

(3) drew #ey ' (4) woaa R

, .
Who sﬁ explicilly for the first time the 'Law of Comparative Cosis’ in the
context of the theory of international trade ?

(1) David Ricardo (2) Alfred Marshall

(3) F.W. Taussing (4) A.C.Pigou

AR A FereTd 3T B wed ¥ Ry wed 1Y o ofn sRRfs B @)
W WY {7 ? '

(1) sfag Rere W
(3) Wﬂ mﬂ ahiﬁﬂlli (4) Qﬂ ﬁl‘} ﬁ"l

What is the process u;ed to resize and layéT Windows on the ,

each title bar is visible ? desktop 50 that

(1) Cascade  (2) Basket | @parphing (g Merging

Iy W RSk $ IN IR v @ Y e wfean
#ﬁmﬁﬁrmm%%? s T R e

(1) Iade (2) e (3) =P (4) ARk

19) -
) PTO

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17P/306/25(Set-l)

85. Which well-known portal derives its name from Jonathan Swiit's “Gulliver's

Travel”? .

(1) Yahoo (2) Lycos (3) AOL (4) Coogle
WMo frage @) ofoad gaa @ e Ao Gda Y s g ferr & 7
(1) &g (2) TN (3) TsUE (4) e

86. Who was the P.M. of Britain when India gained independence ?
(1) Winston Churchill
(2) Harold Macmillan
(3) Anthony Eden

(4) Clement Attlee
T4 YRd B Waar el ot @24 & yue 53 $iH en ?

(1) Rwes =fda
(2) s A
(3) Ta U
(4) 7= el

87.  Which of the following is a Microfinance institution in India ?
(1) SKS Microfinance (2) SMS Microfinance
(3) PSS Microfinance I(#) SPM Microfinance
Pt 3 R A ) BT TR SROER & 2
(1) SKS #grerga (2) SMS HEHIHISIH
(3) PSS FIEmIaTEAd (4) SPM Tgmmrige

88. Which Indian state is surrounded on three sides by Bangladesh ?
(1) Mizoram (2) Meghalaya  (3) Manipur (4) Tripura
Fren RAI T IRy 4§ i w9 R 2 ?
(1) Pl (2) Wery (3) AR @) B

(20)
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The apex organization in the field of rural credit is :
(1) National Bank for Agriculture and Rural Development
(2) State Bank of India

" (3) Grameen Vikas Bank

90.

91.

92.

93.

{(4) SIDBI .

weer YT B &7 ¥ vdaw aiffEeTE 2

(1) o 3% HR ghowar v W STawie

(2) "RT we &5

(3) i Rerg I :

(4) T a1 O & a7 .

Which was the most important game of Indian civilization in Iron age?
(1) Goli " (2) Polo (3) Chess (4) Battleships
AT O H ARG IR 7 Ea W W o |

(1) &6 (2) e (3) A - (4) deEmm
Kinley' mineral water belongs to which com pany ?

(1) Pepsico (2) Coca-cola (3) Real (4) Onjus
'Kinley' %t arex f o w1 2 2 -
(1) uftamy (2) PrEr-Bren (3) Qs (4) 3o

Who founded the Anglo-Mohammedan College, later the Aligarh Mustim

Universi.ty ? :

(1} Sayyaid Ahmad Khan * (2) Abdul Ghaffar Khan
.[3] Zakir Hussein {4) Aga Khan1
%ﬂﬁwmwaﬁﬁjaﬂwmmaﬂmmﬁmﬂﬁﬁﬂgﬁﬁmﬁ ag ?
(1) I siEwe @M (2) ez, AFBR Wi
(3) T g (4) T @M |
What is 'm’ in m-commerce ? B
(1) Mouse . {2) Monitored (3) Mobile (4) Money
m-eiEd ¥ 'mEn 7 e -
(1) e @ e (3) Aagd 4) 7
L | PTO
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94,

95.

96.

97.

98.

Narne the Roman goddess of wisdom, arts, science etc. :

{1) Fortuna (2) Dhana (3) Minerva - {4) Nokla
e, and ol s A DA TRW T AH B

(1) D= (2) g (3) feRa (4) Twa
Which battle marked the beginning of the British rule in India ?

(1) Baitle of Plassey (2) Third battle of Pamipat

{3} Battle of Tarain (4) Battle of Buxar

e # @ty T ) ARY T P YHIT A4 T8 7

(1) il & g (2) T &1 AE YE

(3) WET 1 §g () TRR & TG

What did Rudyard Kipling describe as "thread running across the map of
India" ?

(1) River Canga (2) The Himalayas

(3) The Grand Trunk Road (4) None of these

wSaTS 5T 3 fFual “thread running across the map of India” @ wu & =fr
fam & 7

(1) T 741 (2) 7 e

(3) © iie ¢& U (4) A PR A

Any source of products or services for consumers is referred toasa ............. ;
(1) retail outlet (2} contact point .

(3) transaction point (4) distribution outlet

Fpi @ fory dreacw T wii @ R ) 9 @ FE wd §

(1) 2= amsede (2) P g

(3) FiTE @Re (4) Fewiege amseere

Which of the following is the major reason, consumers give for shopping
online ?

(1) umique merchandise i (2) price
(3) impulﬁé (4) convenience
Ry o @ WY e PR S ngR T B @ for gwia o § 2
$ TSRV - (2) vigs
(1) TE S (
(3) g (4) BT
| (22)
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Which of the following is not a factor affecting consumers’ retail outlet
selection ?

(1) outlet image (2} retail advertising

(3) outlet location and size (4) number of levels of distribution
R & § P99 oR% sogR @ I arscoe Joe oY walda 78t wear & 2
(1) HSeHE oA (2) AT Tl

(3) AT wRYH AR "R (4) TR 3% o P fEeiege

Which dimension of store image consists of quality, selection, style, and price
components ?

(1) merchandise (2) service
(3) physical facilities (4) store atmosphere

g?sﬁﬁiﬁﬂﬁﬂ-ﬂamﬁaﬂifhé’r, olee, wred R wew wedey Pfea 2

(1) TeerEa | (2) wfdw

(3) Mfema Bfafad (4) R TecHiReR

Brands owned and sold by a specific retail outlet are known as .......... s
(1) primary brands (2) secondary brands

(3) store brands N (4) internal brands -

faftre e auceT @ gR AgT &1 Wil 89 3R AT FEarar -

(1) Tt wisw (2) HRved Aigy

(3) ®R FiEw g | (4) F=TTA AisH

McDonald'’s, Domino and Pizza Hut are all examples of which of the follow ing
retail forms ?

(1) corporate chain - (2) voluntary chain
(3) retailer cooperative {4) franchise
Foeites, AT R v €2 a8 it fer 4 3 B9 Req W6t & gurgen & 2
(1) BiRe 3 C{2) B9 U -
(3) feow wRifRRy ~ (4) weEa

(23)
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103.

104.

105.

106.

When using the "ABC' approach to stock categorization. Which of the following
describes class 'C' items ?

(1) High value, high risk (2) High value, low risk
(3) Low value, high risk (4) Low value, low risk

W9 'ABC' 3ntm wie denNEaT @ fa WA 8191 &, df 5 H Q@A aolld
‘T Hige yftha @ & 7 |

(1) & d=y, & R @) = Iy @ R

(3) & ey, &8 R (4) & e, o Rew

Which of the following is not a part of Supply Chain Management Svstem ?

© (1) Supplier (2) Manufacturer (3) Competitor  (4) Customer

g 9 e ey @ P 3 @ @ yd ue T E Y
(1) <R (2) AIHaa (3) GANTI (4) IR

Which of the following statement is trie ?

(1) Logistics is a subset of supply chain.

(2) Supply Chain is a subset of logistics.

(3) Transportation and logistics are same.

(4) Physical distribution and logistics are same.
e A Y oY BuE TR 7

(1) wificad Twird o5 & §ac &

(2) WS A wiARead & dade §

(3) iR AR AifdRes w4 §

(4) Refrea R ik differs &5 &

The impact of cost reduction on proﬁis is much larger than the impact of

increased :
(1) inpovation - (2) production
(3) informalion ' (4) sales
e B Rew @1 glge off e &, e ol SIS . B die |
(1) g (2) Srear
(3) R | )y
5 | (24)
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107. The process of planning, implementing and controlling the efficient, cost
effective flow of materials and related information from the point of
consumption to the point of origin is : ;

(1) Logiqﬁcs (2) Supply Chain Management

(3) Upstream management (4) Reverse logistics '
HORwe B T, ot g T A Tl SRR ok AR @
mw@ﬁhﬂa}ﬁﬁ?#ﬂﬁ:mwm@rﬁaﬁmtz

(1) wfafRes 2) Iwid = Frede
(3) Iy Reite 4) Ry sifaRemra

108. A bill of material (BOM) lists the : |

(1) Times needed to perform al! phases of production
(2) Production schedules for all products

(3) Components, ingredients, and materials required to produce an item

{4) Operations required to produce an item
V& e 3ifer A foree wvar 2 -

(1) mma%w%%ﬁmaﬁmasﬁa}mmaﬂm

2) mmﬁmmw

(3) T aEeH s FA B o wwge, RveE v ¥Ra B s
(4) TF g AW & F forg SR P aravamar

109. Customer relations skills such a5 courlesy and il _
: : iendliness ¢
emphasized during a business's ; ; ISP ness should be

(1) facilities design (2) hiring process
(3) market research | (4) technelogy planning

.10,
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110. Which of the following is an example of primary hospitality and tourism

111.

112.

markel information ?

{1) Financial statements provided in annual reports

(2) Automated guest history records that can be shared by affiliated businesses
(3) Reservation records and registration information

(4) Free reception for frequent travelers in which feedback is collected

e & ¥ B-|1 urgadt EiRTRT) o TRYH Hide FTHhMwA &1 SEEI & ¢
(1) Tt Rard & 7 = wedlug Kevew

() aifereT e R Rody o f» (irines Rvee @ @ TR o 79 8
(3) Redert Rady diR IRWETA FHiRe

(4) e v @ foy ¥ Rener Rk 5 Brets wowe 7% 31 &

A small, local restaurant has decided to advertise its elegant atmosphere and
qualified waiter staff. This approach is an example of ... marketing.

(1) service (2) Mass (3) product (4) target

T BIe, dlddd Wi A 347 Uehife Veaifpar iR WRiHES dev TTF &1 =R
#e1 (ARga B | o' i e i a1 Sae @

(1) widy (2) 7R (3) Wee (4) TRIE

A primary reason hospitality employees and businesses join professional or
trade organizations is fo :

(1) increase employee productivity

(2) qualify for additional government funding

(3) develop promotional efforts and materials

(4) obtain further education and certification

SRaeRrdt TR IR TR #1 AR AR 28 STV WE I 3
T T8 TR E '

(1) g Mefefadt FFe a

(2) q@-mﬁimﬁﬁ’efﬁgﬂiﬁfﬁq AT IEig vl

(3) ST Thdw AR HERTE Sad B

(4y W A e oK Wfderr wifkial T

(26)
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113.  What is the typical effect of an economic slowdown on the hospitality industry ?

(1) Anincrease in the number of guests and a decrease in the number of rooms
available

(2) A decrease in the number of guests and an increase in the number of rooms
available -
(3) A decrease in the number of guests and a decredse in the number of rooms
_ available |
{4) An increase in the number of guests and an increase in the number of
rooms available

BRI vl R gwHEmlt woierad 1w Rftws mig & 2

(1) T 3% Aw & 95t 897 ok Suaer TRR A% W B "o
(2) 7% 3% AT 7 T B IR Sudw TR AT T Y T
(3) TR E T ¥ FA BT R Ty TR P W BT HE
(4) TR G TH § R B 3R Suee TR e T § T2

114.  In India FERA has been replaced by ?

(1) FEMA () FETA . (3) FENA . () FELA

4Rd 4 FERA &) g fasar : . .

(1) Bm - (2) wer (3) B1 (4) @En
115.  Who was affectionately known as the "Grand O M3n of India” 7

(1) Bal Gangadhar Tilak (2) Dadabhai Naoroji

(3) Gopal Krishna Gokhale (4) MahatmeGandhi

fe e ¥ “d. 3iie A offe sPear war o & 2

(1) are TR foes (2) TR

(3) MuE Fw1 Mg (4) wETeH A

e )

116. Inventor of WWW is - |
(1) Bill Gates | (2) LeeN.Feyong

f3) N. Resscl (4} Tim Berners Lee
WWW & giee & - T
_(1)1%#6:« - (2) &t ¥
(3) THo ¥4 (@) fer aiv it
—127)
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117, An expenditure that has been made and cannot be recovered is called :

(1) Variable cost (2) Opportunity cost
(3) Sunk cosl (4) Operational cost
U Grusar ol & far o @ 3R Rea =8 v w1 waa, seamr &
(1) oRysa Fiwe * (2) sTudyidt Fie
(3) W Phee (4) SifRyAS wive
118. Many times we read in financial newspaper FII. What is the [ull form of FII ?
(1) Final Investment in India (2) Foreign Investment in India
(3) Formal Investment in India (4) Foreign Institutional Investment
E IR BR AT BIEARIGS SREER A FII 9 € Fil @7 90 &9 ® & ?
(1) gt TRREIE g9 g (2) BRA gAY 39 sfoa
(3) wiHd 3=vaie 3o g (4) BRA TETYIEH Fravehc

118, A country is said to be.a debt trap if :
(1) it has to borrow to make interest payments on outstanding loans
(2) it has to borrow to make interest payments on to standing loans
(3) it has been refused loans or aid by creditors abroad

(4) the World Bank charges a very high rate of interest on outstanding as wel:
as new Joans.

UF AN F D= 1 @q Tl o €

(1) V18 I HSTHIET dl-F TR Fowe Wiew » for ool o 78
(2) o o WRRT a0 ©© g Moy @ fag &9 o 78

B Bikrs R IdR e s R = Rana
(4) 9 98 IF oM IR T dFe R 8T FEC 3T I

120. Anincrease in the Bank Rate generally indicates that the
(1) Market rate of interest is likely to fall
(2) Central bank is no longer making loans to commercial banks
(3) Central bank is following an easy money policy
(4) Central bank is following a tight money policy
o Yo & sdad AT 3P @R §
(1) g F AGE ¥ AT @A A
{3) ﬁﬁﬁtﬁ?ﬁmﬁm‘fﬁmvﬂ?
@) wmwmn@ﬁ%ﬁﬁa‘rww%

(28)
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anaffal @ foag fda
ot DR & TR SRS TR o SllogHoHRe T h 2FI U W et Hell/Bicd] dicFaige ¥ ¥ € )

1. ¥ Reg frem @ 30 Be @ o @ 2@ @ B weroa § o 7 Algg § R o
g T T B gRae dNgw U WM W Ehe) gE acTe FE Pse @ da
WP wEe @ gt R W B o | .

2. Wem a1 A faywrgr Wew s @ wfoRed, frw @ wWa IR N GE I
L0 R i ol

9. SER.OE aeT Q2w T X g9 T af A o 7 @ Rva X qOv ORI Tel
a1 TN 39 TOV.UF & & Fodred [&r T

4.&wa§m$awmuawmﬂwmgwwd##ﬁﬁﬁﬂ?w
0% fored | o

5. mw$mwwﬂw#mmﬁﬂfﬁamﬂ?ww*ﬁ@ﬁ
7 mar wv ¥ wet-oet aravas 8 qEF weLgRaer a1 AE a9 We I TR
ST Yl W) s |

E.Shnmamnqawmqimﬁw,uﬁ-gﬁfméwaﬁaﬂw(ﬁa%:gg‘uﬁer
m-g‘mmw#tmm&ﬁo@cmnqaﬁmaﬁwﬁﬁaﬁ#wﬁWﬂa‘ﬁ
i 8 2

?.G‘q'?;?fﬂWﬁ‘ﬁéﬁnﬁaﬁ?wﬁﬂ&ﬁmmﬁmgﬁmﬂﬁﬁmmagw
Ffere TR Y RN AT SR

a.m.mﬁmmﬁwmmmwaimmaewﬁa}
) Tt GERTE @ TP 9T 3w Y T I B SOV A B A 78 W
R m A 2 FON TF-qrge 9 @ TeT FA 8 |
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